Chapter 25, Task 25.2 Using IBM SPSS Statistics 19 to produce Scatterplots and calculate Pearson’s r
In this task you will use the NILT06teach data set to examine the correlation between age of respondent and how long they have lived in their current area.
Before progressing any further open the NILT06teach data file in IBM SPSS Statistics 19.

Identify the two appropriate variables: respondent’s age [rage] and Q1.How long have you lived in the town (city, village) where you live now? [livearea]. Undertake some appropriate univariate analysis on them to familiarize yourself with the distribution of the values in each variable. This should include min, max values, range, mean and standard deviation and a histogram.

The next stage is to produce the scatterplot and calculate Pearson’s r.

· From the Graphs menu select Legacy graphs and Scatter/Dot. 

· Click on Simple Scatter. Place the rage variable in the X axis and the livearea variable in the Y axis box.

· Click on OK.

· From the Analyze menu select Correlate and Bivariate. The Bivariate Corelations dialogue box will be displayed. 

· Place both rage and livenow variables in to the main box on the right side. 

· Under Correlation Coefficient check that Pearson’s is selected. A selected item has a tick next to it.

· Under Tests of Significance check that two-sided is selected. 

· Click on OK.
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Examine both the scatterplot and the correlation coefficient. What can you conclude?

Do you notice anything odd with the scatterplot?

You may notice that there is a value plotted that indicates a case of someone aged in their mid-20s who has lived in the same area for over 50 years. This is an example of a rogue value. 

You will also notice that there is a straight line for some cases that have lived in the same area for all of there life. For the remaining cases in the scatterplot the distribution of values is perhaps not unsurprising, with many people clustered around living in the their current area for a smaller number of years. However, as people age and settle (buys a house, perhaps gets married and has children) the length of time they have lived in their current area increases. Pearson’s r of 0.539 confirms this interpretation.

